Design Requirement

¢ Inthe cascaded circuit, V4 = K, X V4, where K is the same value given in Table 2 in
Circuit Design Part A.

e Inthe cascaded circuit, Vo5 = K X V;p, where Kj is the same value given in Table 2 in
Circuit Design Part A.

e Inthe cascaded circuit, V,, = K, X Kz X K X Vg, where K = 60. In addition, the output
voltage V, must be in phase with the input voltage Vs.

Design Constraint

¢ Youare allowed to use any type of circuit component and device available in the laboratory
including resistor, inductor, capacitor, op-amp, etc.

e Allresistors that you use must have resistances within the range of 1 k(2 to 10 k(). Refer to
APPENDIX I for available resistors.

¢ Ifyou use op-amp, you are allowed to use a maximum of TWO op-amps only.

e Useas FEWEST components as possible.



